— MR FENBARTYMR—IL) =

AR

BEZvRR—ILU—Z

F24BIAXRTYR—ILY— F238

B B 20226F9F25A(H) 13:00 A 905 | 254 BEWEEBRESOKOXR—YOR), BEL
EE | R B i256°C | B EE i68% | H i [EvFZ)LEBZ | WBGT | &R 21.6°C HT 21.8°C
<yFasviar—ikA A9 F B IRBAE 2l = 2 )1 e EEZEUME 85k HEY
BHT7Evd— (KR Bl = 1 IEHE B sognal|LIH SiE REELIANK EE 554 A

s - 15615 m - 13—16
(R—LF—L) 0 B 2 (ESH—F—L)
MIOU K L T A e I BYTVLETE
KICK OFF
2K Ya—k B . B\ || & . B Ya—+h R
o TOUTHR ema|a| -7 % |s|Els|s| *TE | RHTw e OUTH o
0 FER EH 34| GK|GK| 1|BaIHR X 0
0 BRit A& 2| DF|DF| 8|E#k &R (Cap.) 0
0 L1 5| DF|DF| 15[KIR #h 0
2 2 INL BB 15| DF| DF| 37|% WF 0
20 1] 3| 1|B#E £k 4| MF|MF| 13|5#5 iRt 1 3 1 2 13%>
HT 1 1 B%8 —F (Cap.) 14| MFIMF| 17|thes RE 0 684
859> 0 (i m e 29| MF|MF| 20|480 #F 0 685>
824y 1 1 A B 33| MF|MF| 23|#ELL K38 4| 2 2
594> 1 1 HE % 24| FW|MF| 25|F 2 LKER 1 1 9%
HT 0 BRIl B2 25| FW|MF| 34|32 H 7% 1 1
3 1] 4 BAR KiE 27| FW| Fw]| 50| A Eth 0 685>
e R 1| ak] k| 30|/k& Rk
29 0 HHE A 3| DF| DF| 2[#)N F0# 2 2 25
33 0 FE —5 13| MF|DF | 29|/hNEIR % 0 20
14 1 1 FaE [ER 23| MF| DF | 32|& 3 &1E
A/l B 26| MFIMF| 35[:ZH BEA 0 50
25 1 1 mR BX 32(|MF|Fw| 9|RH = 0 13
24 0 W B 9 FW| Fw| 31|Kif Zx 2 2 17
25 BB EE EE 2E R
R L BRIl —BR 90+3%| = | 31 K EX EETH
B U ssanw %
9: 5| 14/ >a—~| 13 5 8
6: 9| 15| &k | 10| 2i 8
3 2| 5/ CK 9| 7i 2
78 2| O EEEFK| 4 2i 2
19 1] 2|MEFK| 6| 4 2
111 2|#E740)| 6| 40 2
0 0/ 0/ PK of 0 0
FREHE| $R5F—L [ No. B"RE BERA LA ~FUJ)IL —-TanR T:BEEHR/R xR S:a—k HATAVY
253 |puTVsEE| 13588 Rt 0-1 -1 34 1 -1 | BFEFP HUT 17 D 13 25978k
HRES
1|97 TE Frora—iu 0-2 k-2 17 - -1 13 — | BR-1 | FEFP i A9YI-L
4 |MoUho#E| 45 £k -2 | ;-3 2 - 15 h-2 4  i2wFLE HES
(A ER] AiT£46:30(01:30) . #3£50:20(05:20) ., FHARTEEFR] 01:51:50
UE&E] mi&d. K21 LERE,

X (FTHAR) DWIZ(E, FEFKDSS, BFF—LDATHARIZLDHE. RTRLTVET,




